0000 (0)oooooooono

00909050 (0)00

(11300000 Az,y) O

A(l‘,y) =

—_c R
< O =
N = O

00000000000000
(1) A(z,y) 0000000000000 (2,y) 00000000
(2) A(-2,0)0 0000000000000000000000
()0000o000O000
i)0000000000
20 A03000000000000 a1, 29,25, 00000000 by, by, by
oooooo

T bl
=\ 2o |, b=| by |,
Z3 b3
gooooooogono
(*) Ax =0

gobodoooogbboooood

()000 (xOOODO0OooDOUOOooOooDOooooooooDoood
gbooboobobubbobobobboobobbbd400
0000 (0000oooooo)o

(2)

12 3
A= 01 -1 |, b= 1
-2 0 -2 —4

0000000 (x) 0000



oo 1oogoad

1998/6/5(0)

1l D00O00oooooooo

2l « 0000000000000 0O0O0OO0OODOOOOOO0

r 42y +az =0
—r +ay +2z =3
—ax +4y +z =2a

«00000000000000000000000000@G) 0000000
00G)00000000(GH) 000000

3] 0000000000000 0O0000O000000D D000 o0oOoOOUbOoOo
gbooogogd

goobooboguobbiob o000 U0 D 10000 eO0O0O0ODLDOO %

0000 »00000000 20000000000 00000000 b0
0000000 200000000000 30000

(1) «DO0OD0O0ODO20000 «¢OODDOCODODOO

“(1)

00000000A?2000000000000000

(2) 00 AODDOO

INTJVRVAITE
NI

(3) b0000DO 030000 «,b000D000DODODOODOOODOOOOOOO



o000 1gooodgg
0010090 110 (O)

1] 00000000000

3 -1 2 1
-1 3 1 2
() 2 1 3 -1
1 2 -1 3
55 5 5 5
5 4 4 4 4
(2) 5 4 3 3 3
5 4 3 2 2
5 4 3 2 1

2l « 000000000000 OOOODODOODOO

r+y+z =1
ar +2y+3z =1
a’r+4y+92 =1

() DO0O0O0O0O000O00D0O0O0O0O0O0 e0ODODOOOOOO

(2) (1)0D000 e 0D000OOOOODOO0OOOOODOODOOOOOOOODOO
gobooono

(3) (1))I0O00 «0000O0C0ODOOOUOODODOOOODOOOOODOODOOO



D000 I 000000  1999.5.28

100000000 (rank) 00000

9 10 11 12
5 6 7 8
1 2 3

0000000oUoooUoo

—4 2 1 -1
4 3 1 3
1 -2 1 1

-4 3 5 2

Ble,p 00000000000 OOOOODOOOOOODOOOO

ar + z =-1
—y+az =1
—ar+2y =D

00000000000000

(1) () 00D00000003G)00000000GH) 000000000
00000000 ,b0000 (a,b) 00000000

(2)0000000000000000000000000000



D000 1000000 1999.7.23

[1] DooOoOooDOOooOoO0.

—4 -2
3 3 -5
1
(1) -1 2 —4
3 -5 5
d d d d
d c c
2
@) d ¢ b b
d ¢ b a

[2) nODDDODO A0 A2=00000 0000000000000, 4
0000000000000

[3] 300000 A= (a1,a2,a3) 0000 |A|D |A|=2000000
0.00000000000000000.

(—a1+az +as3, ar —azx+as, a1 +az —as)

4] «,b00000000O,300000

0000.0000000.

(1) ADDODDODO0O0O ¢,b0000000.
(2) (1)0000000,000 A'o00O0.

] 0000000000000 00000000.

T+y—2z =-2
2t —y+z =-—7
r+2y—3z =1
6) 300000 A=(a;;) 0000 |A|DO0DOO0DOODOOODODOOO.O
00 Ss0 00 300000o0o000.

|A| = Z SEN(P1, P2, P3)Ap 10p2ap,3
(P1,p2,p3)€ESs
gboooboooooooooooooboon.
1 0 2
3 0 4

2 -5 1



0000 1000000 20006.2(0)

10000000000

HIEER] E EEEEY

2000000000000

-1 1 2
-2 3 1
1 -1 2

B|DOO0O000rankO0O0OO0OOOOO
[4e, 0 000000C0ODOOOOOOOO

r—y+2z =1
—ar +y =—b
—x+3y+2z2 =5

0000000000000
(1) 00000000000e,b000000000 (6,b) 00000000
() 000000
i)0ooo
(ii)00000O00
(2) (i), () 00000000000
[}|0000000000000000000000000000000

ad

gd
O

EYSTES
S |ofeu~| O

goobdoobobotoboooobooboooobon %DDDDDDDDDDDD
goooooo éDDDDDDDDDDDDDDDDDDDDDD %,DDDDD
gobooooogno %DDDDDDDDDDDD
()Odoo0oo0o0UooooUooooooogo

(2)00 AO
“(i 1)

0000000 A200000000000000
(3) 00000 nO0DOODODODOOOOODODOO0% 000000000 0O0ODOOO nO
gooo

=
oleu~



000 I00000ooooono  2000.6.2.

—12 0 12 -24
—-18 0 18 —36

~7/4 1 5/4
—5/4 1 3/4
1/4 0 1/4

300000000000000000000000000000000000000
OD0000 rank O000rank 00000000000000000O

41)a=300 b#-10000000a=500 b=-100000000a#+:0
0DoO0ooo0oooo

(20000000000

—4
=t =2 |+ 3 |, t0oog
z 1 0
O0oooooooooo
2642
2a—1
y | = %?
4a—b—3
< da—2
[5]1)
17

50
1)00000000000000000000
,2)0000000000000000000
1)0000000000000000000
,2)000000000000000000
3) (200000000 A"0 (1,1)000000000000r=4000

2467 2533
144 — 5000 5000
2533 7467

10000 10000

0000 (1,1)000o0oOoOg 0500000000000 n=4.



000010 000000 200084.(0)

HEN
e lJ0000ODDOOODLODODLDOOODLODLDOOUDLDO
el boobbbb0obOo0ouoooobbboobobn

e JJ0ODOODOODO http://inside.maebashi-it.ac.jp/ ken/2000test.htm[]
goood

00000000 00000000000

(.0

godooooobooogn

T 0
0 1 1
-2 0
ddoooono
[Q]DDDDDDDDDDDDD
a® at a®
IS T
O 0

1 -1 1
A= —a a 3a
2a%  a? 4a?

() 000 |[A|00000000000000(A|0000000000000
(2)A000000000

3)0oooO
T -3
Al y | = 6
z 2

gooo



U000 I0 00000o0ooogn 2000.8.4.(0)

~ —2la*+18a +8
v 1242

_ 3a’+18a +4
B 6a?

~ —3a+6

= 4a

Y




O000b000 I 0 oooooo
0o0o0oo2001060 80 (O)

1] D000 A, BOOOODOOOO

2 -4 2 3 5 6 3 =5

1 1 -3 -1 1 —4
e 3 . B= 3 6

0 3 -4 -3 3 3 2 =3

3 -1 -4 0 -1 2 -2 0

() 0 ABOUOOOOOOOODOOOODODOOOUODOOOOOOOO
(2) DO0ODOD0ODCOOODDAOOOOOOOOO

2] e,p00000000OO0OOODOOOOOOOO

3x+4y+az=1
20 4+3y+92=09
or 4+ Ty + 20z = =5

0000 (i) 000000000 @) 00000000 @) D000000o0o0o0 (e,b) 00000
ooo
3] DOOOOO0O0OOoOUOOoO
r—y—4z4+3w=1
3r+2z—2w= -2
r+2y+9z —8w=—4
() DO00D0OO0OO0OrankO0OOOO
(2) OODODOOO



ooOobooob 10 obooobooooo
0o0o0oo2001060 80 (O)

1] (1) AB=E000000
(2)0000000 A'=B

2] «#11000000000000e=1100 b=—-600000000000ae¢=1100 b# -6
0000000000

3 (1) 2
)
z ~1/3 2/3 —2/3
—13/3 11/3 5
Yl =s Bl W34 | otsoooo
z 1 0
w 0 1 0



[1] DOo0OOD0O0O000O0

O NW N
w = N O
= ot O N

2 D0D0D0O0DO0DO0O0OO0O0OOOoo

48 49
51 52
54 55

[3) DOOO0O0O0O0O0OOOOOOOOOUDOOOOO

OoOooooob 10 oboooog

50
93
o6

3x+2y+4z2=2

S5x+6y+3z=1

20 + 2y + 42 = -3

0O00o20010 8030 (0)20

[4] a=1-+5,b=1++/500000000000000000000000000000



ooOobooob 10 obooobooooo
0O00o20010 8030 (0)20

goooooobooooboo
3] OO0 O0OO0O0OO0OOOOOOoO

48 49 50
51 52 53 |=0
54 55 56
19 5)
= 5 = —— = ——
z ) y 6 ) z 3

a—1 b-1
a2—1 v¥-1

= 1 1 1 |= = (ab— (a+b) +1)(b—a) = —10V/5.

1 b
aj; = =02 —-1=2b+3=5+2V5.
1 b2
11
ajs = — 2ol —(® —a?®) = —(b+a)(b—a) = —4V/5.

0000000 ais = =5+ 2V5, a31 = =5 — V5, az2 = —8V5, az3 = 5 — /5, a1 = —V/5, a3 =
2V5, a3 =—/500000000000000

, 5+2v5  —5-V5 -5
-—— 45 -8v5 2V
10V5 —5+2V5 5—-v5 =5



ooooOooooo 1(cooooooo 20020 60 70 (0)OO

gbbooooobOoooOoobOobooobOOooooOobOOooOobOO0obOOobObOooooboooobon oo
oogo

[ljOD00000ooOoooo
r+3y+2z =1
r+by+8 =7
2r+6y+6z =3

000000ooO0oooooo

2 0 1
A= 5 —1 3
3 -1 4
[B]00000 rankD DO OOODODODO
1 1 4 2
2 2 5 1
A:
1 3 6 -1
-4 -2 1 4
Mle, 00000000000 0OOOOOODOOODO
r+y+ 2z =b

—r+ay+z =2
2r+y— =z =3

(1) (e,) 000000000000 0000000
()DoDOooOoOo

(i) DO OO

(i) 000000

(2) ()0 (i) 000000000000000000000

p|00000000000000O0O0 200000

(42 3)

w O N
S ot =
W o~ =
|
I
VR
I =
—_
v
Il
—_
(@)

AB = (Z aikbkj>
k=1

0000000000000 U0OnO0O0O0000 E,=(e;) 0000 AE,=A0 E,B=B0O00O0O

i=1,2,...,m;j=1,2,....0



ooooUooOooo 1(ooooooUoooo 20020 60 70 (0)OO

[1]

2]
[3] rank A = 3.
4000000

ooobooooo

gooocooooo

x —9/2
y | = 3/2
z 1/2

1/4  1/4 —1/4
A1 11/4 —5/4 1/4
/2 —1/2 1/2

1 1 2 b
-1 a 1
2 1 -1
1 0 -3 3—-1b
0 1 5 2b—3
0 0 3—5(a+1) b+2—(20—3)(a+1)

(1)3-5(a+1)#£00000000000000000a#-2/5.
({i)3-5(a+1)=000 b+2—(20—3)(a+1)=00000000000000a=—-2/5,b=19.
(i) 3—5(a+1)=000 b+2—(26-3)(a+1)#0000000000000000a=-2/50

O b+ 19.

gbogoooobobobobooboood

ggo

X
6] AE, O (i,j) 000

1 0 -3 -16

01 5 35

0 0 O 0
T 3 —16
Yy =t| -5 | + 35
z 1 0

n
E Aik€Lj-
k=1

erj=1(k=j),er;=0(k#7)00000

n

E AikCkj = Ai5€55 = Qg5
k=1

000 AE,=A0000E,B=BO0O0O0O0ODO0OO



ooooOooooo 1(cooooooo 20020 80 20 (0)OO

1000000000000

21 0 1
03 1 2
4 1 -1 0
01 1 2

(200 0000000000000 000000000O000OCOODUOOUOoOO

21 22 23
22 22 23
23 23 23

(300 0000000000000 a,b,c0000000O0O

40000000000

()n00000 A,BOODOOO |A|=5,|B|=3000000000000000 |(AB)~}, |B~14B]
oooooo

(2300000 A=(aj,a,a3) 000 000000000000000000 |4/=3000000
000000000000000

|2a; + ap — 3a3, a; — a3, ap + 4as|



ooooUooOooo 1(ooooooUoooo

20020 80 20 (0)O00O

[1]0
2]
-23 23 0
|A| = 23, A—1:2i3 23 —46 23
0 23 -22
3]

a2

b v |=(a—b)(b—c)(c—a)

2

_ = =

9

Jddd0O0a,b,c0 0000000 ADODODDOODODOODODOOO
[4] (1) [(AB)~'|=1/15, |B~'AB| =5
(2) —15



ooooooooo 1(ooooooo 20030 60 60 (O)0OO

gbooooboooboboobooooboboooboobooboboooobbobbobobboog od
gboooooooooboobooboboooobobooobooboboboobon

jo0ooO0oO0o0oUoOooo

1 1 -1
A=12 1 1
3 1 2

0000U0oOooooo
3r+y+4z+4w =6

—x 4+ Ty + 62 = -8
3y + 3z + Tw =4
r4+4y+5z+2w =-1

B|00000 rankD OO DOOOODO

N O
N

|

—_

|

—_

Me, 000000000000 DOOOOOOOODO

20 +2y—2z =1
2c+y—4z =0
dx+5y+az =b

()00000000000 ¢,b00000000
()000000 (i)0000 (i) 000000

(2) (1)0 () 000000000000000000000

DA = (Z dikakj>
k=1

0000000000000000000000
DO (m,n)000A,BO (n,¢) 0000000

i=1,2,...,m; j=1,2,...4

D(A+ B) = DA+ DB



ooo]

1 -3 2
Atlt=] -1 5 -3
-1 2 -1
2]
T -1 1
Y _y -1 n -1
z 1 0
w 0 1
ooooooo
3 1 4 4 6
-1 7 6 0 -8
0 3 3 7 4
4 5 2
[3] rank A = 2.
4o0oO0o0on
2 2 -1 1 1 0 —=7/2 -1/2
21 40 |—=—---—1] 01 3 1
4 5 a b 0 0 a—1 b-3

000 )e#1000000000 ()e=1000=30000000 ((i)e=100 b#3
goooobooooo
a=1,0=3000000

x 7/2 ~1/2
=t| -3 |+ 1
1 0

[5] A+ B= (aij + bij).

(D(A+B))i; = > dirarj+bi;) = > _(dirarj+dixbrs;) ==Y _ dikarj+y _ dixbr; = (DA)ij+(DB);;.
k=1 k=1 k=1 k=1



ooooOooooo 1(cooooooo 20030 80 10 ()OO

gbbooooobOoooOoobOobooobOOooooOobOOooOobOO0obOOobObOooooboooobon oo
oogo

100000000000

-1 3 0 1 1
0 1 -3 0 2
4 0 0 1 0
-1 -1 0 0 0
0 0 5 0 1

20000000000 000000O00D0O0OOO0OO

5 0
A= 2 11 7
4 9
(3000000000 0oUooooog
a+b+c —c —b
—c at+b+e —a
—b —a a+b+e
(4]
6 0 2
P = -1 1 3
0o -2 1

0000AB=PO0O0O0O 300000 A BOODOOODOUOA,BOODOOODODDOOODODOOO



[1] —99
(2]
1 71 —45 35
-1_ _+ o _
= 123 18 27 21
8 —-12 23

[3] 2(a +b)(b+ c)(c+ a)
[4] |[P|=46+#0. 000000000 04 |P|=|AB|=|A||Bl. 000 |A],|B|£000000000
ABOOOODOOOO



0o0oO0ooOoo I1(ooboooo 20040 70 300 (O) OO

gbbooooboobooobobooboboooobooboooobboobooboboobooobooobn ob
oooo

2 1 =«
1] OO0O0Oooo 3 2 1 ,z2O0000000O0DOOO
3 3 =2
(1) x=20000000000000000000000
(2) xr=-3000000000000000000CO0OOODOO0

2z+y =0 0
2] ,0 000000000000 ¢z+ay =0 00| 0 |0000000000D00O00 @,b00

by+z =0 0
gobobbooooooobboboooo

50 —60 50 —100
—60 —60 50 —100

3] OO0 000 ax10m (1<a<10;m=0,1,2,---) 000 0a,m
50 50 50 —100

—-100 —-100 —-100 —100
goooo

4 AU nO00OO0O0OUOOE,0 n0000000O00OO0OUO0O0O0OOXA=E,000 AX=E, 000
oooooo



oooj ) 9 —10 4 2 —| 9 5 -11

[2) 00ODOOOOOO0

2 1 00 L00 20000 1 a 00
1 a 0 0 — 2 1 00
0 b1 0 0 b 1 0
a 0 0

(2,1) 0000000
— 0 1—-2a 0 0

0 b 1 0

(2,2) 000000000000 OOOO0O

1 0 0 O
(i)l1=2¢£00000—---— 01 0 O)DDDDDDDDDD
0 010
(i) 1-2«=000000000 e=1/20000
1 a 0 0 1 1/2 0 0 1 1/2 0 0
0 1—2a¢ 0 O |=1 0 0 0 O 2DD?£>DDD 0 b 1 0
0 b 1 0 0 b 1 0 0 0 0O
bOoOoooDoOoOooo
(i-Hv£00000
1 a 1 0 —a/b 0 1 0 —1/2b 0
200 1/b 0
0 1 1/ — 1 16 0 |=|01 /60 ooo.
00 0 O 0 0 0 0 0 0 0 0
goo
1 a 00 10 1/2 0
(-l b=00000[ 0 0 1 O 2DD?£>DDD 01 0 O goooood
0 0 0O 00 0 O
000000000e=1/20000 $0000000000000000000000O0 a=1/2.
x 1/(2b)
0000000000e=1/2000#000001 y | =t -1/b (. 00O
z 1
x -1/2
a=1/200b=00000| y | =t 1 .googo«¢«oooo

z 0



3] OOoOODO0OoUDOOOOOO0OO

50 —60 50  —100 ) -6 1 -1
— — -1 — — 1 -1

60 60 50 00 100 4D:DDDD100.50.10'10 6 6

50 50 50  —100 5 5 1 -1
—-100 —-100 -100 —-100 -10 -10 -2 -1

-6 -6 1 0

400300000, s
5 5 1 0
-10 -10 -2 -3
40000000 b0l
= -15-10°| -6 —6 1
5 5 1
11 0 0
100200 (-1) 0000 s
= ~15-10°| =6 -6 1
5 5 1
1oano0onn 0 4q 100 _56 = 1.815-10%

[4] |XA|=|E,|=1,|XA|=|X||A|000|X|#0. X0O0O000O0O0X'0000000 XA=E,
000 AX = E,AX = (X 'X)AX = X Y(XA)X = X'E, X = E,.

KU

0000 2000000000000 00000000O000O0OO0O0OOO
ooooooooo

210 200 10000 Lol
1 a O — 2 1 0
0 b 1 0 b 1
1 a 0
(2,1) 0000000
— 0 1—-2a O
0 b 1
200 30000 ! “ 0
— 0 b 1
0 1—-2a 0
200 30000 Lo “
— 0 1 b
0 0 1—2a
00000 100000000000000000 1-2¢=000000000000000 0000
x -1/2
O00e=1/20000000000 y | =t 1 .00do0ooooooooooooonoa
z —-b

oboooooobooobooooooooooboooobooon



0000000UoD 1(000ooouo 20040 90 240 (0)0OO

goooooooobooobooooooooboobooooboobooooooboooobooooooobono oo
gooo

3 -1 2 3 -1
2 1 0 3 1
[1] 00000000 (rank) 00000
5 -2 2 0 -2
2 -1 0 -3 -1
1 9 6 6
06 2 2
2] OO0 0oooooo
3 25 26 33
4.0 9 10



0o0oO0ooOoo I1(ooboooo 20050 70 220 (O)OO

gbbooooboobooobobooboboooobooboooobboobooboboobooobooobn ob

obobooooooooboobooboooobooboobboobooooo

1. (1) D0D0D0D ADUOOODOOOOODOOOOUOO

12 3 -2
(2),4:( ),B:( ) )DDDDBD A000O0000O0O0O0 (1)0000000

1 3 -1
gooono
2 -2 3
2. 00 1 1 2 gooooocogooogooooogoo
4 2 0
3z —z 42w =1
—x — 2w =-1
3. 0onDooo oood
2 —y+z4+4w =0
3r4+y—3z—2w =7
5 2 3 2
4 3 1 1
4. 00O0O ooooooo
1 1 0 1
0 4 10
-1 1
5. 00O 1 21 ooobobo o00ooooogoooooggoo
-6 1 3

6. n00000 ADDDOOOD ADOODODAOOOODO |A=]4Ar'0000

1 a o a®
1 b b b
7. 004 00000000 oO0oooOoono
1 ¢ & &
1 d & &

. OOobOoOobOoOooboboooobOobOOoboooooobOooobbOOobooOooobOoobooon

ooog



[0oO0]1. (1) AX=XA=E, E,00000000000000 XO00ODOODOOOODAOQOOO
ooo
(2) 0000000 AB=BA=FE,000000BO0O A0OOOOOOOO

A
2. —| -
| 8 121
2 12 —4
—2 1
—4 1
3.t + t00o0)
—4 ~1
1 0
4. =30
-5 2 1
5. 9 -3 -2
-13 5 3

6. AA=|AE,0000FE,00000000000D000OO0CO0O0 |AA| = |A|4. 0DOD
|A|E,| = |A"|E,| = |A|*. OO0 |A||A] = |A|*. ADDDODDOOOO |4l #0. 000 |A| 0000
Al = A1

7. (b—a)lc—a)({d—a)(c=0)(d—b)(d—rc)

8. A= (aj,a,a3) 0000000000000 000O0000 (aj,as3,a) 0000000000
ooooOoooon

a17a37a2| = § Sign (p17p27p3)ap1 10py 3Ap3 2
(p1,p2,p3)€S3

= Y sign(p1,p2.ps)ap, 10, 20p, 3.

(p1,p2,p3)€S3

00 O Osign (p1, pa.p3) = —sign (p1,ps,pz) 000000000000

|a17a37a2| = § _Sign (p17p37p2)ap1 10p3 2Qp, 3
(p1,p3,p2)€S3

= _|a17a27a3|'



0ooo0ooOoo I1(oooooo 20050 80 80 (O)OO

gbbooooboobooobobooboboooobooboooobboobooboboobooobooobn ob
obobooooooooboobooboooobooboobboobooooo

1. 000000000000 0000 (rank) 00000

3 1 2
-6 13 -10
5 0 4
-1 3 =2

|
—_
e

2. D0obOOoooboooooon

121 122 123
122 122 123
123 123 123



ooj1.

123

rank A = 2



